Manual Supplement

00809-0500-4811, Rev AA .
March 2008 Rosemount 3300 Series

Rosemount 3300 Series with Remote Connection

Introduction ...... ... ... . page 1-2
Overview Remote Connection, New Units ............ page 1-2
Mechanical Installation, New Units .................. page 1-3
Overview Remote Connection, Field Retrofit .. ........ page 1-5
Mechanical Installation, Field Retrofit ............... page 1-6

This instruction is a supplement to the Rosemount 3300 Series Reference
Manual (Document No. 00809-0100-4811).

- Awawe

Explosions could result in death or serious injury:

Verify that the operating environment of the transmitter is consistent with the appropriate
hazardous locations certifications.

Before connecting a HART®-based communicator in an explosive atmosphere, make
sure the instruments in the loop are installed in accordance with intrinsically safe or
non-incendive field wiring practices.

Do not remove the gauge cover in explosive atmospheres when the circuit is alive.

Failure to follow safe installation and servicing guidelines could result in death or
serious injury:

Make sure only qualified personnel perform the installation.

Use the equipment only as specified in this manual. Failure to do so may impair the
protection provided by the equipment.

High voltage that may be present on leads could cause electrical shock:
Avoid contact with leads and terminals.

Make sure the main power to the 3300 transmitter is off and the lines to any other
external power source are disconnected or not powered while wiring the gauge.

Probes covered with plastic and/or with plastic discs may generate an ignition-capable
level of electrostatic charge under certain extreme conditions. Therefore, when the
probe is used in a potentially explosive atmosphere, appropriate measures must be
taken to prevent electrostatic discharge.

ROSEMOUNT EME§SONH

Www.rosemount.com Process Management




Manual Supplement
00809-0500-4811, Rev AA

Rosemount 3300 Series March 2008

INTRODUCTION This document covers how to mount the remote connection for the Rosemount
3300 Guided Wave Radar Series ordered with Model Code
B3OXXXXXXXXXXXXXXXXXXBX, see “Mechanical Installation, New Units” on
page 1-3, and for the Remote Connection Spare Part Kit (03300-3001-0001)
(ordered separately), see “Mechanical Installation, Field Retrofit” on page 1-6. For
all other installation details, please see the Rosemount 3300 Series Quick
Installation Guide (Document No. 00825-0100-4811).

OVERVIEW REMOTE The remote housing assembly is shipped with the transmitter head mounted on
CONNECTION, NEW the probe and the remote connection in a separate box.

UNITS

The transmitter head must have the remote connection installed before it will
function.

The parts in the shipping unit consist of:
» Transmitter head mounted on probe
* Remote connection

» Bracket kit
- Bracket (1 pcs)
- Clamping bracket (4 pcs)
- U-bolt (2 pcs)
- M6 screw (3 pcs)
- M6 nut (4 pcs)

Remote connection

Transmitter head mounted on probe

Bracket (1 pcs)

U-bolt (2 pcs)

M6 screw (3 pcs)

Clamping bracket
(4 pes)

M6 nut (4 pcs)

atels

o _____._F-:'__'-—___':_'_:.I‘-_-"———'

Bracket kit

1-2



Manual Supplement
00809-0500-4811, Rev AA .
March 2008 Rosemount 3300 Series

MECHANICAL
INSTALLATION, NEW
UNITS

Remove the Transmitter Head from the probe

M50 nut Remove the Transmitter Head from the probe by

unscrewing the M50 nut.

Mount the probe in the tank

Mount the probe in the tank by following the steps
covered in the Rosemount 3300 Series Quick
Installation Guide (Document No. 00825-0100-4811).

Mount the bracket to the pole
Clamping

brackets Mount the bracket to the pole, making sure the
__U-bolt distance between the probe and bracket does not
exceed the length of the remote connection.
M6 nut 1. Put the two U-bolts through the holes of the

bracket. Several holes are available for
vertical/horizontal pipe mounting.

2. Put the clamping brackets on the U-bolts and
around the pipe.

3. Use the supplied nuts to fasten the bracket to
the pipe.

Open the Remote Connection

Open the remote connection by unscrewing the M50
nut.

1-3



Rosemount 3300 Series

Manual Supplement
00809-0500-4811, Rev AA
March 2008

1-4

M6 screw

M50 nut

M50 nut

[ty

000 Contact Fadw. T b8 001 LT

St B romme [mwne  ng

Select Setup and then
the tab Tank Config

A setting for Remote
Housing should be
selected.

Fasten the housing support to the bracket

Fasten the housing support to the bracket using the
M6 screws. The screws are threaded through the top
of the mounting bracket and into the housing
support.

Mount the probe housing on the probe

Mount the probe housing on the probe, making sure
that the M50 nut is properly tightened.

Connect the Transmitter Head on the housing
support

Connect the Transmitter Head on the housing
support, following the steps covered in Rosemount
3300 Series Quick Installation Guide (Document No.
00825-0100-4811), making sure that the M50 nut is
properly tightened.

Configure via Radar Configuration Tools

Follow the steps covered in Rosemount 3300 Series
Quick Installation Guide (Document No.
00825-0100-4811) to configure the transmitter using
the Radar Configuration Tools (RCT). The remote
housing setting is configured at the factory. For
options, check the setting under “Setup-Tank
Config”.

002 Contact Rader, Tog s B001 LT Sl B ronxn e [morna ws




Manual Supplement
00809-0500-4811, Rev AA
March 2008

Rosemount 3300 Series

OVERVIEW REMOTE
CONNECTION, FIELD
RETROFIT

To upgrade a currently installed 3300 transmitter to a remote housing, the
embedded software needs revision 10 or later, and the Spare Part Kit
(03300-3001-000X) must be ordered.

Please note that the transmitter head will not function unless the remote
connection is configured in Radar Configuration Tools (RCT).

The Spare Part Kit consists of:
« Remote connection

» Bracket kit
- Bracket (1 pcs)
- Clamping bracket (4 pcs)
- U-bolt (2 pcs)
- M6 screw (3 pcs)
- M6 nut (4 pcs)

U-bolt (2 pcs) Bracket (1 pcs)

M6 screw (3 pcs)

Clamping bracket
(4 pcs)

M6 nut (4 pcs)

F Al A

Bracket kit

1-5



Rosemount 3300 Series

Manual Supplement
00809-0500-4811, Rev AA
March 2008

MECHANICAL
INSTALLATION, FIELD
RETROFIT

Clamping
brackets

—U-bolt

M6 nut

M6 screw

M50 nut

1-6

Mount the bracket to the pole

Mount the bracket to the pole, making sure the
distance between the probe and bracket does not
exceed the length of the remote connection.

1. Put the two U-bolts through the holes of the
bracket. Several holes are available for
vertical/horizontal pipe mounting.

2. Put the clamping brackets on the U-bolts and
around the pipe.

3. Use the supplied nuts to fasten the bracket to
the pipe.
Open the Remote Connection

Open the remote connection by unscrewing the M50
nut.

Fasten the housing support to the bracket

Fasten the housing support to the bracket using the
M6 screws. The screws are threaded through the top
of the mounting bracket and into the housing
support.

Remove the Transmitter Head from the probe

Remove the Transmitter Head from the probe by
unscrewing the M50 nut.



Manual Supplement
00809-0500-4811, Rev AA
March 2008

Rosemount 3300 Series

M50 nut

|ﬂb&hﬂmc¢-m* __an
CREEN IR L )

L o [T .

e Lad

Pt ports Besming sam s vina
b i st bt

00 Contact Fadw, Tag s 001 LT

Sill B |romed [mrna g

Select Setup and then

the tab Tank Confi
©1ah Tank Lonfig Select the corresponding

length of the remote
connection.

Mount the probe housing on the probe

Mount the probe housing on the probe, making sure
that the M50 nut is properly tightened.

Connect the Transmitter Head on the housing
support

Connect the Transmitter Head on the housing
support, following the steps covered in Rosemount
3300 Series Quick Installation Guide (Document No.
00825-0100-4811), making sure that the M50 nut is
properly tightened.

Configure via Radar Configuration Tools

Follow the steps covered in Rosemount 3300 Series
Quick Installation Guide (Document No.
00825-0100-4811) to configure the transmitter using
the Radar Configuration Tools (RCT). The remote
housing setting is located under "Setup-Tank
Config". Select the corresponding length of the
remote connection.

0 Condact Redw, Tag s 001 LT

Sl B |ronxn e [morna ws

NOTE
This option is only available for embedded software
revision 10 and above.

1-7



Manual Supplement
00809-0500-4811, Rev AA

Rosemount 3300 Series March 2008

Rosemount and the Rosemount logotype are registered trademarks of Rosemount Inc.

PlantWeb is a registered trademark of one of the Emerson Process Management group of companies.
Teflon, VITON, and Kalrez are registered trademarks of DuPont Performance Elastomers.

Asset Management Solutions is a trademark of Emerson Process Management.

All other marks are the property of their respective owners.

Standard Terms and Conditions of Sale can be found at www.rosemount.com\ terms_of_sale

Emerson Process Management

Rosemount Inc. Emerson Process Management Emerson Process Management
8200 Market Boulevard Shared Services Ltd. Asia Pacific Private Limited
Chanhassen, MN 55317 USA Heath Place 1 Pandan Crescent
T (U.S.) 1-800-999-9307 Bognor Regis Singapore 128461
T (International) (952) 906-8888 West Sussex PO22 9SH Tel (65) 777-8211
F (952) 949-7001 England Fax (65) 777-0947

Tel 44 (1243) 863121 Enquiries@AP.Emersonprocess.com
Wwww.rosemount.com Fax 44 (1243) 867554

EMERSON.

© 2008 Rosemount Inc. All rights reserved. Process Management



http://www.rosemount.com/terms_of_sale

	Introduction
	Overview Remote Connection, New Units
	Mechanical Installation, New Units
	Remove the Transmitter Head from the probe
	Mount the probe in the tank
	Mount the bracket to the pole
	Open the Remote Connection
	Fasten the housing support to the bracket
	Mount the probe housing on the probe
	Connect the Transmitter Head on the housing support
	Configure via Radar Configuration Tools

	Overview Remote Connection, Field Retrofit
	Mechanical Installation, Field Retrofit
	Mount the bracket to the pole
	Open the Remote Connection
	Fasten the housing support to the bracket
	Remove the Transmitter Head from the probe
	Mount the probe housing on the probe
	Connect the Transmitter Head on the housing support
	Configure via Radar Configuration Tools



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


